STAT-319-Quiz #2
Name:                                                                                                            ID                                              
Question1: The diameter of steel rods manufactured on different extrusion machines is being investigated. Two random samples of sizes    and    are selected, and the sample means and sample variances are   ,, , and . Assume that  , and that the data are drawn from a normal distribution. Construct a 95% confidence interval for the difference in the mean rod diameter and interpret this interval.  



















[bookmark: _GoBack]Question2: A manufacturer of intraocular lenses will qualify a new grinding machine if there is evidence that the percentage of polished that contain surface defects does not exceed 2%. A random sample of size 250 lenses contain seven defective lenses. Construct a 95% confidence interval for the true percentage of polished lenses that contain surface defects.









